5. Management Status of Radioactive Solid Waste by Fiscal Y ear

fiscal year
1986 1987 1988 1989 1990 1991 1992 1993 1994 1995
Power
station
Amount of drums generated 0 248 290 294
(number of drums)
Amount of drums of storage
accumulated 0 248 468 692
. (number of drums)
2 Amount of reduction of drums of
- incineration etc. 0 0 0 0
8 S (number of drums)
@ | % |Amount of reduction of drums
5 & |carried out 0 0 0 0
ol B (number of drums)
= n%_ Amount of other kinds of generation
3% 0 16 0 0
'-g = | (equivalent to the number of drums)
= 7 Amount of other kinds of storage
2 accumulated 0 16 16 16
jc:’ (equivalent to the number of drums)
Amount of reduction of other kinds
of comoressions etc. 0 0 0 0
(equivalent to the number of drums)
Amount of storing equipment
canacity 5,000| 5,000| 5,000| 5,000
(equivalent to the number of drums)
Amount of drums generated 822| 1165| 1650| 1,304| 1452| 1,798| 2096| 1907| 2337| 1911
(number of drums)
Amount of drums of storage
accumulated 19,853 | 19,245| 20,059 | 20,888 | 21,647 | 22,459 | 24,020 | 23,793 | 24,166 | 23,723
(number of drums)
g Amount of reduction of drums of
- < |incineration etc. 1,183 1,773 836 565 693 986 535 534 684 754
8 o (number of drums)
o) g Amount of reduction of drums
E 5 carried out 0 0 0 0 0 0 0O 1600( 1,280| 1,600
5 % (number of drums)
g @ |Amount of other kinds of generation
@ g 333 277 387 92 136 373 877 582 769 329
'-'3J £ [ (equivaent to the number of drums)
S | & |Amount of other kinds of storage
=y accumul ated 1239 1516 ("1 1450 1496 | 1,628 1,953 2830 3,326 4,095( 4,243
) (equivalent to the number of drums)
Amount of reduction of other kinds
of comoressions etc. 0 0 454 46 4 438 0 86 0 181
(equivalent to the number of drums)
Amount of storing equipment
capacity 35,500 | 35,500 35,500 | 35,500| 35,500 35,500| 35,500| 35,500 | 35,500 | 35,500
(equivalent to the number of drums)
Note: *1 The reason why the sum of total amount of storage at the end of the previous fiscal year and the amount of generation in fiscal year concerned

does not correspond to the values is due to the error from rounding off the conversion cal culation.




